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n=3, a=0.5119
na=3x0.5119=1.5357

5 [BE] ©
_1
) n+1_1 ) 971
fO)=lim———=1im T
noeo 91 w1
977,
1 n+1
1\ .. (5) !
/\g )7 lim T =1
2]+
1
f@)+4§}:9—1:8

29| : http://wirebox.tistory.com



R(3)==x4+5=11

8. [3€] ©
46 — 50 58 —50
4 4

A
N
A

P

9. (B8] @
b+d=va+Ve=2
Ve=va 1 1

7]%7] : c—a - \/E—'—\/E:2

11. [BE] ®
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2o Az ,Cy- (32)*+ (—2)2=6-9 - 42? = 2162
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1—tanf = (2+ v/3)(1 +tand)
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3*=1, 3’=5
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r+y=3k

y+z=4k

z+x =5k

2@ +y+2) =12k, z+y+2=06k
x=2k, y=k, z=3k
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20. [8%]

S, =Y a, =log(n+3)(n+4)z sta
k=1

+4

0,= 8,5, 1 =logn+3)(n+4) ~logn +2)(n +3) =log"—— (n = 2)
2% +4 k+2

ay, =logo——=log =log(k+2)—log(k+1)
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Y log(k+2)—log(k+1) = (log3 —log2) + (logh —log3) + -+ + (log31 —10g30)
k=1

31
=log31 —log2 = log7

ptqg=2+31=33
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